
Assembly Instructions for TV Trolley Stand
Thanks for choosing our stand. This stand was designed for mounting flat panel televisions weighing up to 60 kg. The height
of TV can be easily adjusted. 

Required Tools: Phillips screw driver.

Safety Warning:  If you do not understand these directions, or have any doubts about the safety of the installation, please 
call a qualified contractor. Check carefully to make sure there are no missing or defective parts. Never use defective parts. 
Improper installation may cause damage or serious injury. Do not use this product for any purpose that is not explicitly 
specified in this manual. We can not be liable for damage or injury caused by incorrect mounting, incorrect assembly, or 
incorrect use.



Supplied Parts

No. Picture Description Quantity

4

5

6

7

2Pole

1

2

3

1

4

Stand Base Plate

Adjustable Foot

2Square Plate Connector
& Rubber Pad

12M6x10 Allen Head Bolt  

Allen Key8

9

M8x40 Hex Head Bolt
M8x20 Washer

Wrench

1

1

M8 spring washer  

2

2





PictureNo. Description Quantity

12M6 Washer27

21 1

1

4

4

4

4

Square Plate

TV Arm Set 

M4x12 Bolt
M4x30 Bolt

M6x20 Bolt
M6x35 Bolt

M4 Washer 

22

23

24

25

26

10 1Shelf

12 4M4x6 Countersink Bolt

11 2Shelf Support

M8x20 Bolt
M8x35 Bolt
M8x45 Bolt





8

4

428

29

30

M8 Washer 

3

7

4Use Allen Key(8)

No. Picture Description Quantity

21

1

2

Use Wrench(9)

12

10

11

Use Wrench(9)

4
5
4

3

M4 Spacer
M6/M8 Spacer(20mm)

M6/M8 Spacer(5mm)





5 Use Allen Key(8)

8
6

6

6

21

7
27

Use Allen Key(8)

7

8

Level adjustment
Use Allen Key(8)

8

29,30
(if necessary)

23-25

26-28





109

9.1

9.2

 

11 12Adjust TV height
Use Allen Key(8)

8

Adjust Shelf  height
Use Allen Key(8)





13 14


